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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742714863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742757901. 1
22742757902. 2
22742757903. 3

22742757904. 4



Question Number : 2 Question Id : 22742714864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742757905. 1

22742757906. 2

22742757907. 3

22742757908. 4

Question Number : 3 Question Id : 22742714865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
22742757909. 1
22742757910. 2
22742757911.3

22742757912. 4



Question Number : 4 Question Id : 22742714866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742757913. 1
22742757914. 2
22742757915.3

22742757916. 4

Question Number : 5 Question Id : 22742714867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742757917. 1
22742757918. 2
22742757919. 3

22742757920. 4



Question Id : 22742714862 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742714863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742757901.1
22742757902. 2
22742757903. 3

22742757904. 4

Question Number : 2 Question Id : 22742714864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757905. 1

22742757906. 2

22742757907. 3

22742757908. 4

Question Number : 3 Question Id : 22742714865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757909. 1



22742757910. 2
22742757911. 3

22742757912. 4

Question Number : 4 Question Id : 22742714866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757913. 1
22742757914. 2

22742757915. 3

22742757916. 4

Question Number : 5 Question Id : 22742714867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757917. 1



22742757918. 2
22742757919. 3

22742757920. 4

Sub-Section Number : 2
Sub-Section Id : 227427584
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742714868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742757921. 1
22742757922. 2
22742757923. 3

22742757924. 4

Question Number : 6 Question Id : 22742714868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757921. 1
22742757922, 2
22742757923. 3

22742757924. 4

Question Number : 7 Question Id : 22742714869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742757925. 1
22742757926. 2
22742757927. 3

22742757928. 4

Question Number : 7 Question Id : 22742714869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757925. 1
22742757926. 2
22742757927.3
22742757928. 4

Question Number : 8 Question Id : 22742714870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742757929. 1
22742757930. 2

22742757931. 3



22742757932. 4

Question Number : 8 Question Id : 22742714870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757929. 1
22742757930. 2
22742757931. 3

22742757932. 4

Question Number : 9 Question Id : 22742714871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

22742757933. 1
22742757934. 2
22742757935. 3
22742757936. 4

Question Number : 9 Question Id : 22742714871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757933. 1

22742757934. 2



22742757935. 3

22742757936. 4

Question Number : 10 Question Id : 22742714872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742757937. 1
22742757938. 2
22742757939. 3

22742757940. 4

Question Number : 10 Question Id : 22742714872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757937. 1
22742757938. 2
22742757939. 3
22742757940. 4



Question Number : 11 Question Id : 22742714873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742757941.1
22742757942. 2
22742757943. 3

22742757944. 4

Question Number : 11 Question Id : 22742714873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

P 1 920 U OREIY R % T (oI W 6T T o el & SR T ST & el i ol o et (0 ) e |
3 o 1 o fo gl 22

1. Gl

JREE G

3. HITdT
Options :
22742757941. 1
22742757942. 2
22742757943. 3

22742757944. 4



Question Number : 12 Question Id : 22742714874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742757945. 1
22742757946. 2
22742757947. 3

22742757948. 4

Question Number : 12 Question Id : 22742714874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757945. 1
22742757946. 2
22742757947. 3

22742757948. 4

Question Number : 13 Question Id : 22742714875 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742757949. 1
22742757950. 2
22742757951. 3

22742757952. 4

Question Number : 13 Question Id : 22742714875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757949. 1
22742757950. 2
22742757951 3

22742757952. 4

Question Number : 14 Question Id : 22742714876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742757953. 1
22742757954, 2
22742757955. 3

22742757956. 4



Question Number : 14 Question Id : 22742714876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742757953. 1
22742757954. 2
22742757955. 3

22742757956. 4

Question Number : 15 Question Id : 22742714877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742757957. 1
22742757958. 2
22742757959. 3

22742757960. 4

Question Number : 15 Question Id : 22742714877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757957. 1
22742757958. 2
227427579509, 3

22742757960. 4

Question Number : 16 Question Id : 22742714878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742757961. 1
22742757962. 2
22742757963. 3

22742757964. 4



Question Number : 16 Question Id : 22742714878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742757961. 1
22742757962. 2
22742757963. 3

22742757964. 4

Question Number : 17 Question Id : 22742714879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742757965. 1
22742757966. 2
22742757967. 3

22742757968. 4

Question Number : 17 Question Id : 22742714879 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742757965. 1
22742757966. 2
22742757967. 3

22742757968. 4

Question Number : 18 Question Id : 22742714880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742757969. 1



22742757970. 2
22742757971. 3
22742757972. 4

Question Number : 18 Question Id : 22742714880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742757969. 1
22742757970. 2
22742757971.3

22742757972. 4

Question Number : 19 Question Id : 22742714881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427579731
22742757974. 2
22742757975. 3
22742757976. 4

Question Number : 19 Question Id : 22742714881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742757973. 1

22742757974. 2



22742757975. 3
22742757976. 4

Question Number : 20 Question Id : 22742714882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear 1. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742757977. 1
22742757978. 2
22742757979. 3
22742757980. 4

Question Number : 20 Question Id : 22742714882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

22742757977. 1
22742757978. 2
22742757979. 3

22742757980. 4

Question Number : 21 Question Id : 22742714883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742757981. 1
22742757982. 2
22742757983. 3

22742757984. 4



Question Number : 21 Question Id : 22742714883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742757981. 1
22742757982. 2
22742757983. 3

22742757984. 4

Question Number : 22 Question Id : 22742714884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742757985. 1
22742757986. 2
22742757987. 3
22742757988. 4

Question Number : 22 Question Id : 22742714884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742757985. 1
22742757986. 2
22742757987. 3
22742757988. 4

Question Number : 23 Question Id : 22742714885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742757989. 1
22742757990. 2
22742757991. 3

22742757992. 4

Question Number : 23 Question Id : 22742714885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742757989. 1
22742757990. 2
22742757991.3
22742757992. 4

Question Number : 24 Question Id : 22742714886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742757993. 1
22742757994. 2
22742757995. 3

22742757996. 4

Question Number : 24 Question Id : 22742714886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742757993. 1
22742757994, 2
22742757995. 3

22742757996. 4

Question Number : 25 Question Id : 22742714887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742757997. 1
22742757998. 2
22742757999. 3

22742758000. 4

Question Number : 25 Question Id : 22742714887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742757997. 1
22742757998. 2
22742757999. 3

22742758000. 4

Question Number : 26 Question Id : 22742714888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742758001. 1
22742758002. 2
22742758003. 3

22742758004. 4

Question Number : 26 Question Id : 22742714888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742758001. 1

22742758002. 2



22742758003. 3

22742758004. 4

Question Number : 27 Question Id : 22742714889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742758005. 1

22742758006. 2

22742758007. 3

22742758008. 4

Question Number : 27 Question Id : 22742714889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742758005. 1
22742758006. 2
22742758007. 3
22742758008. 4



Question Number : 28 Question Id : 22742714890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427580009. 1
22742758010. 2
22742758011. 3
22742758012. 4

Question Number : 28 Question Id : 22742714890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427580009. 1

22742758010. 2
22742758011. 3

22742758012. 4

Question Number : 29 Question Id : 22742714891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742758013. 1
22742758014. 2
22742758015.3

22742758016. 4

Question Number : 29 Question Id : 22742714891 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

22742758013. 1
22742758014. 2
22742758015. 3

22742758016. 4

Question Number : 30 Question Id : 22742714892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742758017. 1
22742758018. 2
22742758019. 3

22742758020. 4



Question Number : 30 Question Id : 22742714892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742758017. 1

22742758018. 2

22742758019. 3

22742758020. 4

Question Number : 31 Question Id : 22742714893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742758021. 1
22742758022. 2



22742758023. 3

22742758024. 4

Question Number : 31 Question Id : 22742714893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742758021. 1
22742758022. 2
22742758023.3

22742758024. 4

Question Number : 32 Question Id : 22742714894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742758025. 1
22742758026. 2
22742758027. 3

22742758028. 4

Question Number : 32 Question Id : 22742714894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742758025. 1
22742758026. 2
22742758027. 3

22742758028. 4

Question Number : 33 Question Id : 22742714895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742758029. 1
22742758030. 2
22742758031. 3

22742758032. 4

Question Number : 33 Question Id : 22742714895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742758029. 1

22742758030. 2



22742758031. 3
22742758032. 4

Question Number : 34 Question Id : 22742714896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742758033. 1
22742758034. 2
22742758035. 3

22742758036. 4

Question Number : 34 Question Id : 22742714896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

22742758033. 1
22742758034. 2
22742758035. 3
22742758036. 4

Question Number : 35 Question Id : 22742714897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742758037. 1
22742758038. 2

22742758039. 3



22742758040. 4

Question Number : 35 Question Id : 22742714897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742758037. 1
22742758038. 2
22742758039. 3

22742758040. 4

Question Number : 36 Question Id : 22742714898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742758041. 1
22742758042, 2
22742758043. 3

22742758044. 4

Question Number : 36 Question Id : 22742714898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742758041. 1
22742758042. 2
22742758043. 3
22742758044. 4

Question Number : 37 Question Id : 22742714899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742758045. 1
22742758046. 2
22742758047. 3

22742758048. 4

Question Number : 37 Question Id : 22742714899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt Pl il Mo WG & IR 39 Pis Hecaqul widd a1 Te) a1 Ul 8, 1 59 fuf & o g oI 82
2. E gt

4. Tyl

Options :

22742758045, 1

22742758046. 2

22742758047. 3

22742758048. 4

Question Number : 38 Question Id : 22742714900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742758049. 1
22742758050. 2
22742758051. 3
22742758052. 4

Question Number : 38 Question Id : 22742714900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742758049. 1
22742758050. 2
22742758051. 3

22742758052. 4

Question Number : 39 Question Id : 22742714901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742758053. 1
22742758054. 2
22742758055. 3

22742758056. 4

Question Number : 39 Question Id : 22742714901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiwrakum?
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Options :
22742758053. 1
22742758054, 2
22742758055. 3

22742758056. 4

Question Number : 40 Question Id : 22742714902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Life below water’ pertains to which of the SDGs?
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Options :

22742758057. 1
22742758058. 2
22742758059. 3
22742758060. 4

Question Number : 40 Question Id : 22742714902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742758057. 1
22742758058. 2
22742758059. 3
22742758060. 4

Question Number : 41 Question Id : 22742714903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742758061. 1
22742758062. 2
22742758063. 3

22742758064. 4

Question Number : 41 Question Id : 22742714903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742758061. 1
22742758062. 2
22742758063. 3

22742758064. 4

Question Number : 42 Question Id : 22742714904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India

[

o

Options :

22742758065. 1
22742758066. 2
22742758067. 3

22742758068. 4

Question Number : 42 Question Id : 22742714904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742758065. 1
22742758066. 2
22742758067. 3

22742758068. 4

Question Number : 43 Question Id : 22742714905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742758069. 1
22742758070. 2
22742758071. 3
22742758072. 4

Question Number : 43 Question Id : 22742714905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427580609. 1
22742758070. 2
22742758071. 3

22742758072. 4

Question Number : 44 Question Id : 22742714906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

22742758073. 1
22742758074. 2
22742758075. 3
22742758076. 4

Question Number : 44 Question Id : 22742714906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



faufeRTer SFEM oM & gRT 1978 H faita ifd hied & Fg § 9 oH-aH gara i g 2

A Tl fassfaeel @1 g &

B. fayfaeadl & den H afg

C. I Ul Wig e Y &g g

D. T HeIfaeTet &1 A

E. Fa® TR R 255 UasH URY &1
ARt ied YW SR

1. HadA BARC
2. $9aB, C3HRD
3.%49d C DIRE
4 $9aB CRE
Options :

22742758073. 1
22742758074, 2
22742758075. 3

22742758076. 4

Question Number : 45 Question Id : 22742714907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

22742758077. 1
22742758078. 2
22742758079. 3

22742758080. 4

Question Number : 45 Question Id : 22742714907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742758077. 1



22742758078. 2
22742758079. 3

22742758080. 4

Sub-Section Number : 3
Sub-Section Id : 227427585
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742714908 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742714909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742758081. 1
22742758082. 2
22742758083. 3
22742758084. 4

Question Number : 47 Question Id : 22742714910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742758085. 1
22742758086. 2
22742758087. 3
22742758088. 4



Question Number : 48 Question Id : 22742714911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L

F =N

Options :

22742758089. 1
22742758090. 2
22742758091. 3

22742758092. 4

Question Number : 49 Question Id : 22742714912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742758093. 1



22742758094. 2
22742758095. 3

22742758096. 4

Question Number : 50 Question Id : 22742714913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true

[ L

e

Options :

22742758097. 1
22742758098. 2
22742758099. 3

22742758100. 4

Question Id : 22742714908 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742714909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742758081. 1
22742758082. 2
22742758083. 3

22742758084. 4

Question Number : 47 Question Id : 22742714910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742758085. 1
22742758086. 2
22742758087. 3

22742758088. 4

Question Number : 48 Question Id : 22742714911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742758089. 1
22742758090. 2
22742758091. 3
22742758092. 4



Question Number : 49 Question Id : 22742714912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742758093. 1
22742758094, 2
22742758095. 3

22742758096. 4

Question Number : 50 Question Id : 22742714913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742758100. 4
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Question Number : 51 Question Id : 22742714914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Folklore is live-5cience’. this statement is related to whom?

. Dr. Pooran Chandra Srivastva
. Dr. Vasudev Sharan Agrawal
5. R.R. Maritt

S J. L. Mish
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o

Options:

22742758101. 1
22742758102. 2
22742758103. 3

22742758104. 4

Question Number : 51 Question Id : 22742714914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742758101. 1
22742758102. 2
22742758103. 3
22742758104. 4

Question Number : 52 Question Id : 22742714915 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

This statement is given by whom? Triveni (three fold river) of song, Dance and music flows in drama.

1. Dr. Krishnadev Upadhyay

2. Dr. Vasudev Sharan Agrawal
3. Dr. Dhirendra Verma

4 51 R.R. Maritt

Options :
22742758105. 1
22742758106. 2
22742758107. 3

22742758108. 4

Question Number : 52 Question Id : 22742714915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742758105. 1
22742758106. 2
22742758107.3
22742758108. 4

Question Number : 53 Question Id : 22742714916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

This statement is related to whom?
Folk songs are mouth speaking (Expressive) Image of any culture.

1. Dr. Dhirendra Verma

2. Dr. Krishnadev upadhyay
3. Dr. JL. Mish

4 Dr. Devendra Satyarthi

Options :

22742758109. 1
22742758110. 2
22742758111. 3

22742758112. 4

Question Number : 53 Question Id : 22742714916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427581009. 1
22742758110. 2
22742758111. 3
22742758112. 4

Question Number : 54 Question Id : 22742714917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

This statement is related to whom
"Folk-Ballad is an epic™?

1. Devendra Satyarthi

2. Dr. Krishnadev Upadhyay
3. Dr. Shankar Lal Yadav

4 Dr. Dhirendra Verma
Options :

22742758113. 1
22742758114. 2
22742758115. 3

22742758116. 4

Question Number : 54 Question Id : 22742714917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Options :

22742758113. 1
22742758114. 2
22742758115. 3

22742758116. 4

Question Number : 55 Question Id : 22742714918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The origin source (Land) of stories emergence is related:

1. India (Bharat)

2. Africa

3. Europe

4 Andaman Islands
Options :
22742758117. 1
22742758118. 2
22742758119. 3

22742758120. 4

Question Number : 55 Question Id : 22742714918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Hel-al &1 Iwa-l I i Y foge! AT T/ 82

1. HEd

2. 3BIPI
4. 3{SHH §IY T58

Options :

22742758117. 1
22742758118. 2
22742758119. 3

22742758120. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which option is wrong about characteristics of folk-tales?

1. The -——- of auspicious wishes.
2. The of —- gagerness

3. Lack of Erotica

4. Loaded with vulgar topics
Options :

22742758121. 1

22742758122.2

22742758123. 3

22742758124. 4
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Options:

22742758121. 1
22742758122. 2
22742758123.3

22742758124. 4
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How many figure of speech are mentioned in Natya Shastra by Acharya Bharat muni?
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Options :

22742758125. 1
22742758126. 2
22742758127. 3

22742758128. 4
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Options:
22742758125. 1
22742758126. 2
22742758127.3

22742758128. 4
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Minimum Instruction Time: 0
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The used words of rural spoken language in postry which are not used in the Literary language are called:

1. Rural-Error
2. Eyes-Error
3. Non-perceptive error
4_Erotic error
Options :
22742758129. 1
22742758130. 2
22742758131. 3

22742758132. 4
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Options:
22742758129. 1
22742758130. 2
22742758131.3

22742758132. 4
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According to Bulcke, how many times ‘Ram’ term is used in Rigveda?

1.9

2:3

3 4

47

Options :
22742758133. 1
22742758134. 2
22742758135. 3

22742758136. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
PIHT Goob b ATIR WaG F TH BT e IR T AT &2

1. b d[}
2 dH &R
4 Hid dR
Options:
22742758133. 1
22742758134. 2
22742758135. 3

22742758136. 4

Question Number : 60 Question Id : 22742714923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



" Jagat Bhulane app aapan Nahi Pahichane” this song lines is related to which Nagpuri Poet?

1. Sobran

2. Father peeter Shanti Navrangi
3. Mahant Ghasi

- Devcharan

I

Options :

22742758137. 1
22742758138. 2
22742758139. 3

22742758140. 4

Question Number : 60 Question Id : 22742714923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

£y

ST T ST {10 81 Ulga I8 Tiid @1 Ufed {69 AFTgsl Hid &1 82

1 TEH

2. WIeX e Mifd Aad
3. Hed 9

4. CIAR]

Options:
22742758137.1
22742758138. 2
22742758139.3

22742758140. 4

Question Number : 61 Question Id : 22742714924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When was Dr. B.P. Keshari met to Nagpuri poet Sri Jagnivas Narayan Tiwari at their Residence?

1.17 June 1964 A.D. - 18 June, 1964 AD.
2.10 June 1963 A.D. — 11 June, 1964 AD.
3. 21 June 1964 AD. — 22 June 1964 AD
4. 20 June 1964 AD - 21 June 1964 AD
Options :

22742758141. 1

22742758142. 2

22742758143. 3

22742758144. 4

Question Number : 61 Question Id : 22742714924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ARG Bid i &1 e AREv [9aR) 9 ST o U B3R fobg a9 3cb FHarg § e 42
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Options:

22742758141. 1
22742758142. 2
22742758143.3

22742758144. 4

Question Number : 62 Question Id : 22742714925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year peeter Smith used first time the term "Austric Language Family™?

Options :

22742758145. 1
22742758146. 2
22742758147. 3

22742758148. 4

Question Number : 62 Question Id : 22742714925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
“Hd YN URAR” Yeg UG Uek BYSe A ®1H 5. § Ueall aR fear i
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Options:

22742758145. 1
22742758146. 2
22742758147.3
22742758148. 4

Question Number : 63 Question Id : 22742714926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to Dr. Mansidh Baraudh Mandari Lokokti is divided into how many paris?

1. Into Three Parts
2. Into Six Parts

3. Into Five Parts
4 |nto Four Parts

Options :

22742758149. 1
22742758150. 2
22742758151. 3

22742758152. 4

Question Number : 63 Question Id : 22742714926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3. AFfls 98T93¢ @ IUR qUsK 1l $iad! &l food- HFT H =11 71471 82

1. d4f YT |

2. B YFTH

3. Uid 4T H

4 IR 4T H
Options:
22742758149. 1
22742758150. 2
22742758151. 3

22742758152. 4

Question Number : 64 Question Id : 22742714927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Deep places points of rivers in Northern India is called

Field (Khet)
itch (Khaie)
ah

ond (Talab)

4
2.
g 3

00T

41

Options :

22742758153. 1
22742758154. 2
22742758155. 3

22742758156. 4

Question Number : 64 Question Id : 22742714927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742758153. 1
22742758154, 2
22742758155.3
22742758156. 4

Question Number : 65 Question Id : 22742714928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which Khortha literator has written a Hindi novel ~ Dhalti Sanjh Ka Suraj’?

1. A K Jha

2. Vishwanath Dasaundhi Raj
3. Vishwanath Nagar

4. Chitranjan Mahto 'Chitra’
Options :

22742758157. 1
22742758158. 2
22742758159. 3

22742758160. 4

Question Number : 65 Question Id : 22742714928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

GR3 & Y UifiedeR 3 “gadl 9ig & QIo 8@ el 3u-ary foranm

1.0 & 3

2 ey Tl I
3. [AyY AR
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Options:

22742758157. 1
22742758158. 2
22742758159. 3

22742758160. 4

Question Number : 66 Question Id : 22742714929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which literator is known as "Kaka Hathrasi” in Khortha Literature?

- Ram sharan Viswkarma

- Shanti Bharat

. Shyam Sundar Mahto “Shyam’
. Sukumar

[

o

Options :

22742758161. 1
22742758162. 2
22742758163. 3

22742758164. 4

Question Number : 66 Question Id : 22742714929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TRe Ued & v g 9iedaR &l &1dl 2ludl B8l 741 22

1. IHERY fayeal

2. TMifd YRd

3. gAY Hedl T
4. gPUR

Options:

22742758161. 1
22742758162. 2
22742758163.3

22742758164. 4

Question Number : 67 Question Id : 22742714930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Agradas’ Ji was disciple of :

1. Nanddas

2 Nabhadas

3. Krishnadas ji Payhari
4. Ramanuja Charya
Options :
22742758165. 1
22742758166. 2
22742758167. 3

22742758168. 4

Question Number : 67 Question Id : 22742714930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. TGy
2. ATHe™
3. PWGH o TTgH]

4 THSTEE

Options:

22742758165. 1
22742758166. 2
22742758167. 3

22742758168. 4

Question Number : 68 Question Id : 22742714931 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who was written 'Rama styam’?

1. Agradas

2. Nabhadas

3. Priyadas

4 Tulsidas
Options :
22742758169. 1
22742758170. 2
22742758171. 3

22742758172. 4

Question Number : 68 Question Id : 22742714931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
RS @1 L] foa- Bi 42

=

3. ;‘-1 qH
4. dcldlg

Options:

22742758169. 1
22742758170. 2
22742758171.3

22742758172. 4

Question Number : 69 Question Id : 22742714932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



After the celebration of Mage Parv in the Magh Month, Munda tribes begin singing which weather-Song?

1. Karma

2 Paika

3. Mage

4 Jadur
Options :
22742758173. 1
22742758174. 2
22742758175. 3

22742758176. 4

Question Number : 69 Question Id : 22742714932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

79 & g0 SHaTe 311 94 & §16 qUsT Solidl § S 91 3199 &7 TH1 URS il 82

1. PH

2. UlgPl

3 9r

4 g
Options:
22742758173. 1
22742758174. 2
22742758175. 3

22742758176. 4

Question Number : 70 Question Id : 22742714933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which song's feature is mainly found in Budhu babu’s song.?

1. Jadur song
2. Japi Song
3. Karma Song
4. Gena Song

Options :

22742758177. 1
22742758178. 2
22742758179. 3

22742758180. 4

Question Number : 70 Question Id : 22742714933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
qga1 & Tdl § JoAd D ¥ Ml &l [ayd o7 St 82

1. '*5'|\;;q Tﬂ_'.'[

2. S1fg Tid

3. ®H I

4 TH1MG
Options:
22742758177. 1
22742758178. 2
22742758179. 3

22742758180. 4

Question Number : 71 Question Id : 22742714934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Thakur Viswanath Shahdev written Nagwlai in which script?

1. Kaithi script
2. Devnagri

3. Persian

4. English

Options :

22742758181. 1
22742758182. 2
22742758183. 3

22742758184. 4

Question Number : 71 Question Id : 22742714934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SIER [AYH1Y TEed DI AU H rdel $1 51 i 412

1. & fafg
4. el

Options:

22742758181. 1
22742758182. 2
22742758183.3

22742758184. 4

Question Number : 72 Question Id : 22742714935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is producer of Nagpuri film ‘Sonakar Nagpur'?

. Satyadev Narayan Tiwari
- Dhananjay Nath Tiwari

- Mrityunjay Nath Tiwari

- Dr. Umeshnand Tiwari

[

o

Options :

22742758185. 1
22742758186. 2
22742758187. 3

22742758188. 4

Question Number : 72 Question Id : 22742714935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
GHT B AR ARTGRN ftheq & Fofdr &4 82

1. 9dad IR faar
2 YAy fAaR
3. gdorgAry foard

Options:

22742758185. 1
22742758186. 2
22742758187.3

22742758188. 4

Question Number : 73 Question Id : 22742714936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who was the first poet to write a Bengla Lyric (Prageet) Muktak in western Style?

- Naveen Chandra Sen
. Biharilal

- Budhadev vashu

- Sukumar Sen

[

o

Options :

22742758189. 1
22742758190. 2
22742758191. 3

22742758192. 4

Question Number : 73 Question Id : 22742714936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I 2Acit G &I Wi Hedb o ddt Ued $id i 47

Options:

22742758189. 1
22742758190. 2
22742758191.3

22742758192. 4

Question Number : 74 Question Id : 22742714937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who are main, singers of modern Udiya romantic poetic system?

1. Nand Kishor Bal

2. Ganga dhar Mehar

3. Chintamani Mahanti

4 Radha nath and Madhusoodan
Options :

22742758193. 1

22742758194, 2

22742758195. 3

22742758196. 4

Question Number : 74 Question Id : 22742714937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiegf e Iy D Hred YRI & THD| H BIF FHE 57

1. TafPUR 4

2 TRMER HgX

3. a1 gef

4. AYFTY AR AYYe

Options:

22742758193. 1
22742758194, 2
22742758195.3

22742758196. 4

Question Number : 75 Question Id : 22742714938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dr. Hardev Narayan singh broadly classified Kurmali Folk- literature in how many category.

1. Four

2 Five

3 Six

4 Three
Options :
22742758197. 1
22742758198. 2
22742758199. 3

22742758200. 4

Question Number : 75 Question Id : 22742714938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742758197. 1
22742758198. 2
22742758199. 3

22742758200. 4

Question Number : 76 Question Id : 22742714939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to content, entire Vadic Vangmay is divided in how many parts?

1. Three

2. Four

3. Five

4 Two
Options :
22742758201. 1
22742758202. 2
22742758203. 3

22742758204. 4

Question Number : 76 Question Id : 22742714939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 faug &1 giF U 99K A arsqd &I fda- YT | Sel 9l g2
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Options:

22742758201. 1
22742758202. 2
22742758203. 3

22742758204. 4

Question Number : 77 Question Id : 22742714940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which word is finder (Bodhak) of word compilation or collection?

. Richa

~ Sanhita

- Sukta

. Sutra granth

[

o

Options :

22742758205. 1
22742758206. 2
22742758207. 3

22742758208. 4

Question Number : 77 Question Id : 22742714940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TTeg YD I1 UUT B GIU® B 91 ek 52

1.38d

2 Hfgar

3. ol

4 JF Uy
Options:
22742758205. 1
22742758206. 2
22742758207.3

22742758208. 4

Question Number : 78 Question Id : 22742714941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In the many Chapters of Yajurveda there is mention of ‘Megha' yojna in which the word is wrong?

1. Ashwamegha
2. Narmegha
3. Dhatumegha
4 Sarvmegha

Options :

227427582009. 1
22742758210. 2
22742758211. 3

22742758212. 4

Question Number : 78 Question Id : 22742714941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Iodc & o Al ¥ HY a0 OF ¢ o8 @1 91 ek Tad 872
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Options:

227427582009. 1
22742758210. 2
22742758211.3

22742758212. 4

Question Number : 79 Question Id : 22742714942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Sn V. Vardacharya etc. has divided 108 upnishads according to content in how many parts?

92]

X
. Seven

. Thirteen
Ten

L R —

._l‘_‘..

Options :

22742758213. 1
22742758214. 2
22742758215. 3

22742758216. 4

Question Number : 79 Question Id : 22742714942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o1 . e e = 108 IuFYE! & [AUaUR fbdd YAl | 9l g2

1. &:

2 Hid

4 oy

Options:
22742758213. 1
22742758214. 2
22742758215. 3

22742758216. 4

Question Number : 80 Question Id : 22742714943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Vasant Samaye Duti, grihe Nai Mar Brajpati Nana fulauo fulsy, madhumas, Suno Sakhi go abla dhairaj dhari kisey."The
sentiment (Ras) in this song is

1. Sanyog Sringar

2. Vipralambh Sringar

3. Bhakti Sentihashya (Ras)
4. Hasya Sentihashya (Ras)
Options :
22742758217. 1
22742758218. 2
22742758219. 3

22742758220. 4

Question Number : 80 Question Id : 22742714943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U 990 g, e s TR §uid 91 Bais B, BYHY, T IR T Sfer gaeet o | 39 i § o 2 &2

1. WO 4R

2. faye $R
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4 TRYH
Options:
22742758217.1
22742758218. 2
22742758219.3

22742758220. 4

Question Number : 81 Question Id : 22742714944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Nal-Damyanti related romance-poetic creations is written in which style?

. Doha Style

. Chaupai Style

. Sortha Style

. Doha-Chaupai Style

[

o

Options :

22742758221. 1
22742758222. 2
22742758223. 3

22742758224. 4

Question Number : 81 Question Id : 22742714944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I - e rEl U - 1 &1 91 [6d e 3 I 87
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Options:

22742758221. 1
22742758222. 2
22742758223.3

22742758224. 4

Question Number : 82 Question Id : 22742714945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



How many form of God-Naravtar are mentioned in Puranas?

1. Three

2 Four

3 Two

4 Five
Options :
22742758225. 1
22742758226. 2
22742758227.3

22742758228. 4

Question Number : 82 Question Id : 22742714945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
RO H REAR YaH & [ad €9 54 T 82

1. a4
2 dE
3 al
4. Ui

Options:

22742758225. 1
22742758226. 2
22742758227.3

22742758228. 4

Question Number : 83 Question Id : 22742714946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which language impact is present in Padavali’ after being written in Mathili Hindi?

1. Udiya

2. Bengali

3. Bhojpuri

4. Braj bhasha
Options :
22742758229. 1
22742758230. 2
22742758231. 3

22742758232. 4

Question Number : 83 Question Id : 22742714946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Al fe=el 5 Iad 84 W i Terac | fiy HIw &1 9HId faeHH 82
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Options:

22742758229. 1
22742758230. 2
22742758231.3

22742758232. 4

Question Number : 84 Question Id : 22742714947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which Sufi poetic-5ystem poet has written ‘Hans-Jawahar’ Poem?

- Noor Muhammad

- Kashim Shah

. Shekh Nisar

- Malik Muhammad Jaysi

[

o

Options :

22742758233. 1
22742758234. 2
22742758235. 3

22742758236. 4

Question Number : 84 Question Id : 22742714947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742758233. 1
22742758234, 2
22742758235. 3

22742758236. 4

Question Number : 85 Question Id : 22742714948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is Pachpargniya written of works ‘Ka Rakam Shikhab Aar Sikhab'?

- Parma Nand Mehto

. Karamchand Aheer

- Karamchand Aheer and Parmanand Mehto
. Sristidhar Mahto.

[

o

Options :

22742758237. 1
22742758238. 2
22742758239. 3
22742758240. 4

Question Number : 85 Question Id : 22742714948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 I5H fiRgg AR fawE =1 & Ugui=g] ogs & 82

1. TRHMS Agdl
2. BT HER
3. BTG e Ud REH-< Hedl

Options:

22742758237. 1
22742758238. 2
22742758239.3

22742758240. 4

Question Number : 86 Question Id : 22742714949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is writer of ‘Kudukh Phonetic Reader'?

F. Hahn

. Francis Ekka
Fransisca Kujur

- W.G. Archer

[ s

o

Options :

22742758241. 1
22742758242. 2
22742758243. 3

22742758244. 4

Question Number : 86 Question Id : 22742714949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DgE PP 8T & oad B &2

Options:

22742758241. 1
22742758242, 2
22742758243.3

22742758244. 4

Question Number : 87 Question Id : 22742714950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is writer of the Book ™ Kundukha Katha Bidhana eed'u?

1. Khalik Ahmad

2. Naeemuddin Mirdaha
3. Al Muhammad Ansari
4. Ayaz Ansari

Options :
22742758245, 1
22742758246. 2
22742758247.3

22742758248. 4

Question Number : 87 Question Id : 22742714950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
D5E oY [g13 & I UKD & A€ D g7

1. @ifdd 3gHG
2. THeH FRerE!
4. 3Te] YRT

Options:

22742758245. 1
22742758246. 2
22742758247.3

22742758248. 4

Question Number : 88 Question Id : 22742714951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In the year of 1945, the "Santhali lokgeet’ book was published in which script by Sir George Archer?

1. Devnagri Script
2. Kaithi Script

3. Roman Script

4. Bengali Script
Options :
22742758249. 1
22742758250. 2
22742758251. 3

22742758252. 4

Question Number : 88 Question Id : 22742714951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
GRS 2 A F 1945 3. H GalIell ST Tidh I o fRifly ob 1 & wpifRret fepar o2

2 & fafg
4 Serr foIfg

Options:

22742758249. 1
22742758250. 2
22742758251.3

22742758252. 4

Question Number : 89 Question Id : 22742714952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who was the singer of the song * Ab fo ghootat pran, dekhey badey Nand kan, Kahi deb Aabayan re Goiyaa Ant Kalay Nithur
Kanhalya'?

1. Prafulla kumar Roy

2. Naeemuddin Miradaha

3. Madhu Mansoori Hansmukh
4 Kalam Ansari

Options :

22742758253. 1
22742758254. 2
22742758255. 3
22742758256. 4

Question Number : 89 Question Id : 22742714952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

38 1 920 U &8 96 76 @M, $ie od Mg I 301 3d $Ial (g degdl| 3 7id & 9% BH 42

1. QS"}\\ ?'_‘l PRI
2. T TReTe
3 By A R
4 &AM AHR
Options:
22742758253. 1
22742758254, 2
22742758255. 3

22742758256. 4

Question Number : 90 Question Id : 22742714953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



This statement is related to whom on the basis of legends. hihri-Pipari The ancestor of Santhal Came to reside in Chai and
Champa-Hazaribag sadar by wandering from many places?

1. Dr. Ramdayal Munda

2. Dr. Tulis Narayan Munda
3. Dolton

4 Manay Munda
Options :
22742758257. 1
22742758258. 2
22742758259. 3

22742758260. 4

Question Number : 90 Question Id : 22742714953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
S SR R Tl U R U] i g g § 81 g a1 iR 1 - Bia 9ey H of a4 ¥ 78 @ il 27

2. 1. el AR
3. gleicd

4 R
Options:
22742758257. 1
22742758258. 2
22742758259. 3

22742758260. 4

Question Number : 91 Question Id : 22742714954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What was time period of Jharkhandi movement?
A_From 1859 to 1880- Sardar Movement

B. From 1862 to 1880- Khadiya Movement

C. 1832 — Munda Movement

D. 1855-56 — Santhal Revolt

Choose the correct answer from the options given below:

1. AB, and C only
2. A.CandD only
3. C,Band D only
4 B, CandD only

Options :

22742758261. 1
22742758262. 2
22742758263. 3
22742758264. 4

Question Number : 91 Question Id : 22742714954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ARES! Hala Ha Jad T2

A 1859 T - 1880 TRGR A<

B. 1862 ¥ - 1880 \ISTT fTgIaq
C. 1832 - 2T TR I

D. 1855-56 TaId fagre

-t fau U fadedl & T 981 SR &1 994 DIt

1. ®adA B 3R C
2. BAAA. C 3R D
3. ®AAC, B, 3R D
4 HAAB, C, 3R D
Options :
22742758261 1
22742758262. 2
22742758263. 3

22742758264. 4

Question Number : 92 Question Id : 22742714955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the Martyrs with their Martyrdom dates

A 16 April 1858- Thakur Vishwanath Shahdev

B. 8 January 1858 — Sheikh Bhikhari

C. 20 April 1880 — Veer Telanga Khadiga

D. 22 October 1901 — Gaya Munda

Choose the correct answer from the options given below:

1. A.B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742758265. 1
22742758266. 2
22742758267. 3

22742758268. 4

Question Number : 92 Question Id : 22742714955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telal & Teig [AAdl ®f gand|

A 16 30T 1858 - BTER [AG-TY Wead
B. 313 -4l 1858 - ¥ fHrar]

C. 20 3f5d 1880 - R T WS

D. 22 FTSR 1901 - T =

i feu U @l § T T8 IR &1 994 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758265. 1
22742758266. 2
22742758267. 3

22742758268. 4

Question Number : 93 Question Id : 22742714956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are correct dates of Books publication?

A 1982 — Subodh Santhali

B. 1970 — Santhali Shabdkosh

C. 1980 — Hindi 5anthali swayam shiksch akewam Shabdkosh
D. 1981 — Sahoj Santhali Shikschak

E. 1982 — Regench

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. A DandE only
4 A CandD only

Options :

22742758269. 1
22742758270. 2
22742758271.3
22742758272. 4

Question Number : 93 Question Id : 22742714956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



&I FbI=H B faidal & - B ° 5
A. 1982 - gaY Taret

B. 1970 - §dci Techiy

C. 1980 - T&=<1 darcit waH Rei® Ud Ty
D. 1981 - ¥g Yaral &
E. 1982 - T

< fGu 7T fgwedl & T 981 S @1 994 S

1. ®adA B 3R C
2. ®ddAB, C 3R D
3. BAAA D, 3R E
4 HAAA C 3R D
Options :
227427582609. 1
22742758270. 2
22742758271.3

22742758272. 4

Question Number : 94 Question Id : 22742714957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Pro. Dr. K.C. Tudoo who are medieval-period Santhali Literature
A_Dr. Stenshila Hembram

B. Naveen Besara

C. Dr. Ramchandra Murmo

D. Dr. Shahdev Marandi

Choose the correct answer from the options given below:

1. Aand B only
2. Cand D only
3. Aand D only
4. B and D only

Options :

22742758273. 1
22742758274. 2
22742758275. 3

22742758276. 4

Question Number : 94 Question Id : 22742714957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ul 21 & 9. T & R TGO Gdidl GedeR S - dH B

A S1. AR g
B. 74 TR

C. 31 IHg= 7Y
D. ST Wged WSl

= ST 7T fadedl & 9 U5 SR &1 999 DI

1. Pad A 3R B
2 Had C ARD
3. Wad A 3R D
4 HadB. AR D
Options :

22742758273. 1
22742758274, 2
22742758275. 3

22742758276. 4

Question Number : 95 Question Id : 22742714958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are correct years of Books publication?

A. 1892 — " Introduction to the Khadiya Language’

B. 1935 - Hims in Khadiya Durang

C. 1942 — "Khadiya Aalong”

D. 1958 - "Berthah Biha”

E. 1930 — Mundari Vishwakosh

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3.A, CandD only
4 B, CandE only

Options :

22742758277. 1
22742758278. 2
22742758279. 3
22742758280. 4

Question Number : 95 Question Id : 22742714958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR & TR a6 A P - P QT R

A 1892 - SCISaRM ¢ ¢l WS il

B. 1935 - e 31 Wfisa1 3
C. 1942 - @iSar 1A

D. 1958 - ST fagT

E. 1930 - UER] fay®iy

< fGu 7T fgwedl & T 981 S @1 994 S

1. HadA B, 3R C
2 ®ddB, C, 3D
3. ®adA, C, 3D
4 ®HaAB, C, 3ARE

Options :

22742758277. 1
22742758278. 2
22742758279. 3

22742758280. 4

Question Number : 96 Question Id : 22742714959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are definitions of Linguistics?

A_ The study of language elements is a subject of Linguistics.

B. "Origin, construction, Nature and development of language i1s explained is Linguistics.
C. Origin, development and decline of Language is explained in linguistics.

D. Linguistics is that science in which done

E. We done metaphysical analysis of language.

Choose the correct answer from the options given below:

1. Aand B only
2. Band C only
3. C and D only
4. Aand D only

Options :

22742758281. 1
22742758282. 2
22742758283. 3

22742758284. 4

Question Number : 96 Question Id : 22742714959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HTST TG &I DI - DI T GRYETE 52

A “HTST Tl 1 3G HINT faxiH &1 [q9a 8

B. WY faq= H 4161 &1 Sfd a1 Uda 3R Goerg & sareg &1 oidi 31
C. 4T fag= § 4T & Iafd [9®Y iR g9 &1 sl & Jidl ¢

D. 4T fa5= &1 I 99 9°F 9§ & forad Y &7 afcas f[a<ayor 91 fdar S g1

I feu U iAol | 9 U SR &1 994 DIt

1. Had A AR B
2 HaAB AR C
3. ®ad C3RD
4 HITAIRD

Options :

22742758281. 1
22742758282. 2
22742758283. 3
22742758284. 4

Question Number : 97 Question Id : 22742714960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the Language Scientific Characteristics of a Language?
A_Uncertain sound form

B. Meaningful and analysable sound

C. Perpetually Changing

D. Sociability

D. Sound form produced from Animals-Birds

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. A CandD only
4 B,C and E only

Options :

22742758285. 1
22742758286. 2
22742758287. 3
22742758288. 4

Question Number : 97 Question Id : 22742714960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



UTHT &1 YTHT 331 a2l & - S T 82
A e @ =g

B. Ui ud faweyuiig @iy

¢. faR afvad==ia

D. TSl

E. Y] Ufgat § Fgd @@ =y

< fGu 7T fgwedl & T 981 S @1 994 S

1. ®adA B 3R C
2. ®ddAB, C 3R D
3. WAAA, C 3R D
4 HAAB, C, AR E
Options :
22742758285. 1
22742758286. 2
22742758287. 3

22742758288. 4

Question Number : 98 Question Id : 22742714961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are origin theories of Language?

A Nirnay Theory

B. Dhatu Theory

C. Nyayik Theory

D. Vikaswadi Theory

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 AB and D only

Options :

22742758289. 1
22742758290. 2
22742758291. 3
22742758292. 4

Question Number : 98 Question Id : 22742714961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HIYT B I Td FSId B - S T 872
ATl frgid

B. urq frsid

C. s fgid

D. famrgarct fosia

-

Hid feu e foeedl & ¥ 981 STk &1 99 DIt

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758289. 1
22742758290. 2
22742758291. 3

22742758292. 4

Question Number : 99 Question Id : 22742714962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are form of language?

A Individual language

B. official Language

C. Contact Language

D. International Language

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742758293. 1
22742758294. 2
22742758295. 3
22742758296. 4

Question Number : 99 Question Id : 22742714962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HIY & B - B T Y 22
A TG HIHT

B. I=THTHT

C. Td

D. 3FCRTPRT 4Tl

=, =

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758293. 1
22742758294, 2
22742758295, 3

22742758296. 4

Question Number : 100 Question Id : 22742714963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When a dialect becomes a Language?

A Social Acceptance

B. Excess of Population

C. Literary Excellence

D. Lack of Education

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A Dand Conly
4 A BandD only

Options :

22742758297. 1
22742758298. 2
22742758299. 3
22742758300. 4

Question Number : 100 Question Id : 22742714963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



BIS Fici] B HIE & S 82

A TS J-dl

B. S DI gl

C. Oifefd® 9pdl

D. 21 &1 34419

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA D, 3R C
4 HAAA B IR D
Options :
22742758297. 1
22742758298, 2
22742758299. 3

22742758300. 4

Question Number : 101 Question Id : 22742714964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which language of language family are prevalent in India?
A_Bantu

B. Agneya Family

C. Ekakschar family

D. Dravid family

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 B, CandAonly

Options :

22742758301. 1
22742758302. 2
22742758303. 3
22742758304. 4

Question Number : 101 Question Id : 22742714964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR H oo - T ymn ofart &1 4 wafed 82
A SIg

B. 3T URAR

C. THIER URaR

D. gids oftar

= ST 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA D, 3R C
4 HAAB, C, AR A
Options :
22742758301. 1
22742758302. 2
22742758303. 3

22742758304. 4

Question Number : 102 Question Id : 22742714965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the reasons for change in sound?

A_ Ease of Articulation

B. Emotionalism

C. Perfection of Imitation

D. Ignorance

Choose the correct answer from the options given below:

1. A.B and C only
2.B,C and D only
3. A.CandD only
4 AB and D only

Options :

22742758305. 1
22742758306. 2
22742758307. 3
22742758308. 4

Question Number : 102 Question Id : 22742714965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 TEdT & 9 - B T PR 72
A 79 -Tg

B. Yig@dl
C. 3B BT gofar

D. '3 '«:|5 El

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758305. 1
22742758306. 2
22742758307. 3

22742758308. 4

Question Number : 103 Question Id : 22742714966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the reasons for changes in sentence-formation?
A Impact of other language

B. Not using superfluous words

C. Effort for novelty

D. Ignorance

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

227427583009. 1
22742758310. 2
22742758311. 3
22742758312. 4

Question Number : 103 Question Id : 22742714966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9 739 H uRadd & &I - B § BRU 87

A 314 HIET d] UHIG|

B. 3fffad Weal &1 UgrT = 8|

C. T4i-d1 &1 Ugg |

)

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758300. 1
22742758310. 2
22742758311, 3

22742758312. 4

Question Number : 104 Question Id : 22742714967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Traditional governing system of Khadiya' society allocated work to which of the following organisations?
A_Pahta Doklow

B. Pargana Doklow

C. Raiej Maha Doklow

D. O. Doklow

Choose the correct answer from the options given below:

1.A, Band C only
2. B, Cand D only
3. A Cand D only
4. AB and D only

Options :

22742758313. 1
22742758314. 2
22742758315. 3

22742758316. 4

Question Number : 104 Question Id : 22742714967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GrST G & URANS M9 dawyT § [ Ta-1 &1 &4 9191 9l 672
A Ugel Sladl
B. UM Sidd

C. 391 AgTsidal
D. 3ff — Sidar

-t fau U fadedi & I 981 SR &I 99 DIt

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758313. 1
22742758314, 2
22742758315. 3

22742758316. 4

Question Number : 105 Question Id : 22742714968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who are members of executive committee of Raiej Maha doklow?
A_Kartaha

B. Raig] Mahasohor

C. Raie] Mohato

D. Raiej] Kotwar

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 B, CandAonly

Options :

22742758317. 1
22742758318. 2
22742758319. 3
22742758320. 4

Question Number : 105 Question Id : 22742714968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IS HEIE Pl & $R RO GHfd & 958 B - 1 ald 82

A DIcle

B. U39 HeMIGR
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= ST 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA. C 3R D
4 HAAB, C, AR A
Options :
22742758317. 1
22742758318. 2
22742758319. 3

22742758320. 4

Question Number : 106 Question Id : 22742714969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pathalgari is done in following works of Tribal Khadiya Society:
A In the memory of decreased people.

B. Demarcation of land

C. On the occasion of festival

D. In the memory of any event

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 A BandD only

Options :

22742758321. 1
22742758322. 2
22742758323. 3
22742758324. 4

Question Number : 106 Question Id : 22742714969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[ =

feardt wfea 9o & gyaTe! fae - 5 &l | &t 9t 82

A Tdd] &1 Ffa 3§

B. 9HH & 9Hi® H

C. digR & 39aeyg H

D P geH ac |

-t fau U fadedi & I 981 SR &I 99 DIt

1. ®adA B 3R C
2. &dAB, C 3R D
3. WAAA, C 3R D
4 HAAA B IR D
Options :
22742758321 1
22742758322. 2
22742758323. 3

22742758324. 4

Question Number : 107 Question Id : 22742714970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What features are found in structure of an Epic?

A_ It is important to be chapterised of an Epic

B. There is no description about seasons

C. Tales are historically famous

D. Hero is either deity or great warrior.

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A.CandD only
4 A B andD only

Options :

22742758325. 1
22742758326. 2
22742758327. 3
22742758328. 4

Question Number : 107 Question Id : 22742714970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AETdIcg ®f B0 H @ - &1 91 91d fHadl 82

A FETHI B Tidg gH1 HGWE |

B. Hq3il & auid -Tgl gid &1

C. BT 3oy U< sl o

D. @ HRIqr &Y 3YdT adl oidl ol

Hid feu U fowed & ¥ 981 STk &1 99 DIt

1. HadA B, 3R C
2 ®ddB, C, 3D
3. ®adA, C, 3D
4 HAAA B, AR D

Options :

22742758325. 1
22742758326. 2
22742758327. 3
22742758328. 4

Question Number : 108 Question Id : 22742714971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are famous Folk-Drama of India?
A_Gabari

B. Jitiya

C. Jat-Jatin

D. Bhawai

E. Ghoda Nritya

Choose the correct answer from the options given below:

1. A, B and C only
2. A CandD only
3. B, Cand E only
4 C,DandE only

Options :

22742758329. 1
22742758330. 2
22742758331. 3
22742758332. 4

Question Number : 108 Question Id : 22742714971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= fGT 7T fadedl & 9§ U5 SR &1 997 DI

1. ®adA B 3R C
2. BAAA. C 3R D
3. ®AAB, C, 3R E
4 HAAC, D, ARE
Options :
22742758329. 1
22742758330. 2
22742758331. 3

22742758332. 4

Question Number : 109 Question Id : 22742714972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Dr. Krishna dev Upadhyay following are charactestics of Folk Drama?

A Language are very simple and common.

B. Open plateform, scene-cha jing are as a part

C. Dialogue are very small and simple.

D. Plots are not historical, mythological and social.

E. There is no need of special kind of cosmetics ornamentation, precious costume for the form structure.
Choose the correct answer from the options given below:

1. A, Band Conly
2. A CandE only
3. B, Cand D only
4. C,DandE only

Options :

22742758333. 1
22742758334. 2
22742758335. 3

22742758336. 4

Question Number : 109 Question Id : 22742714972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. HIYT §31 T a1 il - a1eft g1t 2
B. Tl Hd UT - uRad- &1 a1 81

C. TaIG 9gd @I ¥l Wa eid o

= - =5 -

D. BYFS Ufdgiyd, URI0E I TS T8l gldl %I

E. €Y gio1 § fard 32y UoR & JHTeH, cidR Sgqcd 9% &) Aagddl Tl aidl
4 feu U fg@med § 9 U2t SR &1 99 Biford:

1. HadA B IR C
2 BadA, C ARE
3. ®»adB, C ARD
4 HIAc, D, ARE

Options :

22742758333. 1
22742758334. 2
22742758335. 3

22742758336. 4

Question Number : 110 Question Id : 22742714973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are prevalent name for ballds (Kathatmak Geet)?
A Gujrat- Kathageet

B. Bihar — Natva

C. Maharashtra — Pavanda

D. Rajashtan —Geet Katha

E. Bengal — Damkach

Choose the correct answer from the options given below:

1. A, B and C only
2. A CandD only
3. A.D and E only
4 B, CandD only

Options :

22742758337. 1
22742758338. 2
22742758339. 3
22742758340. 4

Question Number : 110 Question Id : 22742714973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. ToRTd - HYFTA
B. fd&R - Fgaf

C. HERIY - Uds]

D. I - Tiddyr

E. §c] — S9&hd

= fGT 7T fadedl & 9§ U5 SR &1 997 DI

1. ®adA B 3R C
2. BAAA. C 3R D
3. BAAA D, 3R E
4 HAAB, C, 3R D
Options :
22742758337. 1
22742758338, 2
22742758339. 3

22742758340. 4

Question Number : 111 Question Id : 22742714974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which art/crafts are comes under fine arts?

A Art of Poetry

B. Drawing

C. Dance-Music

D. Wooden craft

E. Metallic Craft

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A CandD only

Options :

22742758341. 1
22742758342. 2
22742758343. 3

22742758344. 4

Question Number : 111 Question Id : 22742714974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. BT - Bl
B. i - @l
C. I - T
D. &8 - &l

E g - ®al

= fGT 7T fadedl & 9§ I8! SR &1 999 DI

1. ®adA B 3R C
2. ®dAB, C, 3R D
3. ®AAC, D, AIRE
4 HAAA C, AR D
Options :
22742758341 1
22742758342 2
22742758343, 3

22742758344. 4

Question Number : 112 Question Id : 22742714975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ruskin has classified Arts in there ‘Modern Painters’ as:
A_ Useful Arts

B. Animal husbandry

C. Fine-Arts

D. Agriculture

Choose the correct answer from the options given below:

1. Aand B only
2. D and C only
3. Cand D only
4 Aand C only

Options :

22742758345. 1
22742758346. 2
22742758347. 3
22742758348. 4

Question Number : 112 Question Id : 22742714975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. ST Herd

B. U] - UTcH

C. Tferd - e

D P

= ST 7T fadedl & 9 U5 SR &1 999 DI

1. ®adA B 3R C
2. &dAB, C 3R D
3. ®AAC, D, ARE
4 HAAA C, AR D
Options :
22742758345, 1
22742758346, 2
22742758347. 3

22742758348. 4

Question Number : 113 Question Id : 22742714976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Michel Breal has indicated which of the following three directions for developing the meaning?
A. Semantic — Extension (Arth-Vistar)

B. Language expressive (Bhashik vyanjak)

C. Limiting the meaning (Arth —Sankoch)

D. Land- Language (Bhoo-Bhashiki)

E. Arthadesh

Choose the correct answer from the options given below:

1. A, B and C only
2.A CandEonly
3. B, Cand D only
4. C, D andE only

Options :

22742758349. 1
22742758350. 2
22742758351. 3

22742758352. 4

Question Number : 113 Question Id : 22742714976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A 3 - faER
B. YIS ol

c. 3 - Odig

= fGT 7T fadedl & 9§ I8! SR &1 999 DI

1. ®adA B 3R C
2. HAAA, C 3R E
3. ®AAB, C 3R D
4 HAAC, D, ARE
Options :
22742758349, 1
22742758350. 2
22742758351. 3

22742758352. 4

Question Number : 114 Question Id : 22742714977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the features of sound rule?

A A sound rule is limited to the specific language or one language family
B. That is limited to some specific sounds.

C. Sound rules are universal

D. Any sound rule have some specific time period.

E. There is no need of specific conditions in sound rules.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. A BandD only
4 C,DandE only

Options :

22742758353, 1
22742758354. 2
22742758355. 3
22742758356. 4

Question Number : 114 Question Id : 22742714977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



@ o9 & 941 [a2gand 52
A T® @ FHae fed v f92iy 91 ve YT uiar 9@ difd Wwal ol

B. 98 & fafy wafal oo difta | gl

¢. @ faw grhe® gid

D. U @i+ 99 &1 Ueh 9y Siiaq giar 8|

E. @i -1gai & foe faey oRiRufoal & sawgere g
4 fau U fadedl § 9§ U8 3R &1 99 Pife:

1. HadA B, 3R C
2 ®ddB, C, 3D
3. ®ad A B, IR D
4 HaAC D, ARE

Options :

22742758353, 1
22742758354. 2
22742758355. 3

22742758356. 4

Question Number : 115 Question Id : 22742714978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are works of Nagpuri poet Hanuman Singh?
A_Kosila Biha

B. Krishna Charitra

C. Sudoma charitra

D. Parlay Geet

E. Mrigi Sat

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. A DandE only
4 B, DandE only

Options :

22742758357. 1
22742758358. 2
22742758359. 3
22742758360. 4

Question Number : 115 Question Id : 22742714978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. B fael

B. W ARA

C. gem ara

D. W Tid

E T 94

= fGT 7T fadedl & 9§ I8! SR &1 999 DI

1. ®adA B 3R C
2. ®ddAB, C 3R D
3. BAAA D, 3R E
4 HAAB. D, AR E
Options :
22742758357. 1
22742758358, 2
22742758359. 3

22742758360. 4

Question Number : 116 Question Id : 22742714979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List i
Youth Dormitory Tribals
A. Dhum Kuriya |. Birhore

B. Youth Dormitory in
© |l Munda, Santhal

Tanda
C. Ghotul [1l. Uraon
D. Gitiora . Muriya

Choose the correct answer from the options given below:

1. Alll, B-l, C-IV, D-lI
2. Al B-ll, G-IV, DA
3. AV, B-ll, C-lII, DA
4 A, B-lI, C-ll, DIV
Options:
22742758361. 1
22742758362. 2
22742758363. 3

22742758364. 4

Question Number : 116 Question Id : 22742714979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

gt | & Y || &1 A B

g | Ll

(TTE) (e

A yapfsar |1 feRER

B. HUST H Ta1 |l JUsT §am

C. died I Ia

D. Tifeafis IV, gRar

-d feu e famedl § 4 U1 IR &1 994 DIt

1. AL B-I, C-IV, D-lI
2. All, Bl C-IV, DAl
3. AV, B-Il, C-lII, D-|
4. A, B-lll, C-Il, D-IV



Options :

22742758361. 1
22742758362. 2
22742758363. 3
22742758364. 4

Question Number : 117 Question Id : 22742714980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List I

List | List Il

Name of Martyrs Date of Birth of Martyrs
A_ Amar Shaheed veer Budhu Bhagat|l. 17 January 1809

B. Veer Telanga Khariya Il. 17 February 1792

C. Thakur Vishwanath Shahdev 1. 9 February 1806

D. Pandey Ganpat Rai IV. 12 August 1817

Choose the correct answer from the options given below:

1. A, B-ll, C-ll, D-IV
2. Al B-lIl, G-IV, DI
3. Alll, B-IV, C-l, D-lI
4 A-IV, B-l, C-lI, D-lI
Options:
22742758365. 1
22742758366. 2
22742758367. 3

22742758368. 4

Question Number : 117 Question Id : 22742714980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt | & 91y 1| &1 FAeE sifoe

Ll el

(el @ M) (@retal @i o fafd)

A 3R WEIG 9 g8 Y|l 17 SiRadi 1809

B. 9iX dem @t I, 17 TIa 1792

C. BT fagy TEeg |1 9 Badl 1806

D. OISy THYd I IV. 12 3T 1817

=< U 7T fodedl | © 9l ST &1 99 PIeg:

1. A, B-ll, C-ll, DIV
2. Al B-lII, C-IV, DI
3. Al B-IV, C-, Dl
4 A1V, B-l, C-lI, DI
Options :
22742758365. 1
22742758366. 2
22742758367. 3

22742758368. 4

Question Number : 118 Question Id : 22742714981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List |l

List | List II

MName of Martyrs Date of Martyrdom
A. Sheikh Bhikhari |. & January 1853
B. Jatra Bhagat Il. 3 December 1971
C. Gaya Munda [1l. 22 October 1901
D. Lans Nayak Albert Ekka|lV. 1917

Choose the correct answer from the options given below:

1. A, B-IV, C-llI, D-lI
2. Al B-lll, G-I, D-IV
3. Al B-Il, G-IV, DAl
4 A-lV, B-I, C-lI, D-IlI



Options :

22742758369. 1
22742758370. 2
22742758371. 3

22742758372. 4

Question Number : 118 Question Id : 22742714981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt | & 91y 1| &1 FAeE sifoe

Ll il

(RM6IGT & H) (=TeTEd fafl)

A BE - iRt . 8 Sa<t 1858

B. S T . 3 feEmw 1917
C. TR H{UST . 22 3/HeET 1901
D. T8 T HTEe Tahl|IV. 1917

- feu e famedl § 9§ 981 3R &l 98- DIfat:

1. A, B-IV, C-llI, D-II
2. Al B-lIl, C-l, D-IV
3. Al B-Il, G-IV, DI
4 A-IV, B-l, C-lI, D-lI
Options:
22742758369. 1
22742758370. 2
22742758371.3

22742758372. 4

Question Number : 119 Question Id : 22742714982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List Il

Literature Statement

A_ Devendra Satyarthi |. Folk lores automatically created

B. Tej Narayan Lal Il. Folk lores are talking pictures of a culture

C. Grim lII. Village lores are ved shrutis of post Aryan Civilization
D. Dr. Hazari Prasad Dwivedi|lV. Folk Lores are the history of the progress of life

Choose the correct answer from the options given below:

1. A, B-ll, C-ll, DIV
2. Al B-Iv, C-1, DI
3. Al B-I, C-IV, DI
4 A1V, B-lll, C-Il, DI
Options :
22742758373. 1
22742758374. 2
22742758375. 3

22742758376. 4

Question Number : 119 Question Id : 22742714982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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c.fim 111, ety Tfie SR T % 48 4 2
D. BT, 59R! TTE feddiiv. i it 5AR e G &1 sfaem Bl
I feu U fadedl § U T8t 3R &1 98- Difeid:

1. A, B-ll, C-ll, D-IV
2. Al B-IV, C-I, D-IlI
3. Al B-I, C-IV, DAl
4 A-lV, B-Ill, C-lI, D-I



Options :

22742758373. 1
22742758374. 2
22742758375. 3

22742758376. 4

Question Number : 120 Question Id : 22742714983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List |l

List| List II
Literature Statement

A Dr. Narayan Prasad Shrivastavall. The child sentiments embedded in human mind their language literature and expressions become a story.

B. Dr. Satyendra Il In Lok katha, Lok is more important than script. The katha which is fold by people becomes Lok Katha
C. Dr. Haridwari Lal Sharma ~ |Il. The narration received through tradition becomes Lok Katha
D. Satyavarat Awasthi IV. The stories popular among people and which are running down through oral traditions are Lok- Kahani

Choose the correct answer from the options given below:

1. Ad, B-I, G-Il DAV

2. Al B, GV, DAl

3. All, B-V, G-I, D

4 AV Bl G-, DI
Options:
22742758377. 1
22742758378. 2
22742758379. 3

22742758380. 4

Question Number : 120 Question Id : 22742714983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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rd T T foded! # ¥ ) S @1 99 B

1A Bl CIl DV

2. Al B-l, C-IV, D-llI

3. Al B-IV, C-ll, D-I

4. A-IV B, C-I, D-Il

Options :

22742758377.1
22742758378. 2
22742758379. 3

22742758380. 4

Question Number : 121 Question Id : 22742714984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List I

List| List Il
Linguists Statement
A. Dr. Babu Ram , . N
|. Study of language elements is the subject of Linguistics
Saxena
B.Prof DevendraNath| : , ; . :
- II. Linguistics means that field of literature where in only, logical analysis of language is done.

C. Dr. Kailash Chandra |l Linguistics is that part of literature wherein scientific analysis of origin structure nature, development and degradation
Bhatiya 0f language is done in historical and comparaive

D.Dr ManMohan |V, Perspective the simple meaning of linguistics is the science of language whereas science means specific knowledge,
Gautam Therefore the spacific knowledge of language is Linguisics.

Choose the correct answer from the options given below:

1. A, B-V, C-II, DI

2 Al BHIl C-l. DV

3 ANl B, C-V, DI

4. AV, B-I, C-lIl, D
Options :
22742758381. 1
22742758382. 2
22742758383.3

22742758384. 4

Question Number : 121 Question Id : 22742714984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



T & Y 1| 31 R P

sl el
(D) (@)
A Sl T W

e | 4791 el 1 Spee - e v e &

B ST T (I 4 o = e 9 e B . o vy s fowww e e e &)

C.3 ST Il M o 7 e & e Qi UG QI HUH & R1 M1 9 I S Wi [T T B9 G 3 e
yfea o 4 @ ol 2

D. T ARGt T |1V, e g o e and 5 v oot ot ok T o o o 1 59 v e a4 oy 1 v o
7 fGu T fomed H 51 S @1 99 DI

1. A, BV, I DNl
2. Al Bl - DV
3. A B G-V DI
4 AV B G-Il DA

Options :

22742758381. 1
22742758382. 2
22742758383. 3
22742758384. 4

Question Number : 122 Question Id : 22742714985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List I

List | List Il

Linguists Statement

A Acharya Kishori Das Baj , , .

e |. Language is a Symbol through which people express their views to others

S ndire II. In different meanings group of symbolic words is language through which your feelings are easily communicated to

others

Il Language is the result of constant efforts for making expressions of vocal sounds. This is the expression of

C. Block and Tragger
% human mind through hearing organs

D. Hambolie IV. Language is that system of desirable vocal symbols through which human community mutually cooperate.

Choose the correct answer from the options given below:

1. A Bl CHIl DV
2. Adl, B-|, GV DAl
3 ANl BV, G-I, Dl
4 AV Bl C-Il, D
Options :

22742758385. 1
22742758386.

22742758387.

A W N

22742758388.

Question Number : 122 Question Id : 22742714985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & Y 1| 31 R P

sl el

(4T 1) @)

%TWW | M1 U T 1 o ¢, forg & ] 1 el € & o e o foram 3 R e e

B.gig 1. Tefie el 3 ienes g WG &1 I 5, oAk GV B 0 ATTG GER1 o ) g S & e & o
Il TG 6 1 HIfafioutaet och o ORI I b ket o 1 &, M| T Yo o 4 § A - T )

CTHERER | pd

D. FAiE V. T U155 T Wi 1 0 0w &, Foes G FIFG STy TR gaM] & ¢

i 16U 7 oeat 9 gt O 1 9 il

1. AL B Il DV

2 Al B C-IV DI

3 AL BV G-I DI

4 ANV BAII C-II, D

Options :

22742758385. 1
22742758386. 2
22742758387. 3

22742758388. 4

Question Number : 123 Question Id : 22742714986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List Il

Writers Book

AW Ball I. Konon Katekism

B. L. Cardom Il. The Khariyai of Chhotanagpur
C. Martin Luthar 1. The Khariyai and Their Customs
D. Father Antani Dungdung|lVv. Jungel Life in India

Choose the correct answer from the options given below:

1. A, B-ll, C-ll, DIV
2. Al B-1, CIV, DI
3. Al B-Iv, C-ll, DI
4 A1V, B-lll, C-I, D-lI
Options :
22742758389. 1
22742758390. 2
22742758391. 3

22742758392. 4

Question Number : 123 Question Id : 22742714986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl | ' 1Y 1| BT AeE difee

il il

() (T)

A gt ata |. BHH BeleE

B. Ue1. BISiA II.* & WSS % BIEANIT
C. AT TR Il g AT TS SR FPAY
D. TIE HHI GGV, SR T3 5 Sfvsdl

4 feu U faw eyl § © U981 IR &l 99 HIIu:

1. A, B-ll, C-ll, D-IV
2. Al B-l, C-IV, D-IlI
3. Al B-Iv, C-ll, D-l
4 A-lV, B-Ill, C-1, DAl



Options :

22742758389. 1
22742758390. 2
22742758391. 3
22742758392. 4

Question Number : 124 Question Id : 22742714987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list [ with List Il

List| List Il
Genre Defination

A Lok |l The Song which is longer where in there is gaiety besides importance of script. In the language of Poetry, it is called Muktak’ and
Geet ‘Prabandh’. This is known as lok Gatha.

B. Lok

Kl II. In Inia materials were perhaps taken from rural areas for Natyaa Shastras.

C. Lok o ‘ , i ; :
Gaha IIl. The distorted feelings coming from the mouth of aborigines became Geet in due course of time
D. Lok L I .

- IV. Lok Katha is the mirror of traditional limits through which the whole face of tribe becomes clear.

Choose the correct answer from the options given below:

1. A, B CAIl DV

2. Adl, B-|, CIV. DAl

3. Al BV, G-I, DI

4. AV, B-ll, C-II, D
Options :
22742758393. 1
22742758394, 2
22742758395. 3

22742758396. 4

Question Number : 124 Question Id : 22742714987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T &Y || 31 i B
W
@ [eom)

ATE- | 300 T PR AT 2 o H U o ) & T T R e B 5 e R Y I 6 9 o Qe
Ui & 70 i w8l

ijﬂ I MR B S 12 - W o o g &9 ok &1 & v f o

CTR R e R L

SET IV T - F1 31 TRUas S 1 05 SO0 & forees W12 & Wil &1 9 90 S0 2l
T U T fomelt H € 61 IR @1 98 Do

1. AL B C-V DI

2 Al BV CII. D

3. Al B C-II DV

4 AV B-IIl C-L D-Il

Options :

22742758393. 1
22742758394. 2
22742758395. 3
22742758396. 4

Question Number : 125 Question Id : 22742714988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

List | List Il

Father of Speech|Example

A Shlesh |. Woone live face (Chandra sa Mukh)

B. Vakrokti II. Rahiman Pani Rakhiye Bin Pani Sab Soon. Pani Gaye Na Ubre Moti Manus Choon

C. Vipsa II1. Madhur-Madhur Mere Deepak Jal

D. Upma IV. Ek kabutar dekh Haath mein pooch a kahan upar hai ? usne kaha apar kaisa? Wah ud gaya sapar hai

Choose the correct answer from the options given below:

1. Ad, B-II, G-IV, DAl
2 Al B-V. Il D
3 All. B-l, C-Il. DAV
4 AV, B-Il C1, D-I

Options :
22742758397. 1
22742758398. 2

22742758399. 3
22742758400. 4

Question Number : 125 Question Id : 22742714988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl | ' 1Y 1| BT AeE difee

I | il

(TPR) |(SSTE)

ATY | AEETEE

B. anpifad|ll. fea= url ufEd, &= a9 g ol T 1 Se, |idl aE g

C.d=mr (1N, HER AR 7Y Siuw o

D. UHT |IV. U% SR o@ 614 H UB1 H5l AR 52 IT ol 3R H4E1? 95 35 T TN ¢
I feu e fadedl § U T8t IR &1 98- Difeid:

1. A, B-ll, C-IV, D-llI
2. Al B-IV, C-llI, D-l
3. Al B-l, C-Il, D-IV
4 A-lV, B-Ill, C-1, DAl




Options :

22742758397. 1
22742758398. 2
22742758399. 3
22742758400. 4

Question Number : 126 Question Id : 22742714989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Write correct sequence of four tribes of Austric language family of Jharkhand:
A Khadiya

B. Munda

C. Santhal

D. Hoe

Choose the correct answer from the options given below:

1. C,.B.DA
2. DAB,C
3. ABCD
4 BCAD
Options :
22742758401. 1
22742758402. 2
22742758403. 3

22742758404. 4

Question Number : 126 Question Id : 22742714989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FREUS & AReH U URER B IR SHladl & HErg! & HH § fore:
A Efea
B. qUsT
C. Idra

— i o

F ¥ O 3T @1 99 DIeIL:

Options :

22742758401. 1
22742758402. 2
22742758403. 3

22742758404. 4

Question Number : 127 Question Id : 22742714990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Write correct sequence of wearing’s ornaments from forehead to toe:
A_ Hansuli

B. Jhutiya

C. Khongso

D. Chhoochbhi

Choose the correct answer from the options given below:

1.B,CAD
2. ADB,C
3.DBCA
4 CDAB
Options :
22742758405. 1
22742758406. 2
22742758407. 3

22742758408. 4

Question Number : 127 Question Id : 22742714990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRWUS H J1YT ¥ T dF YR H 91 g1 &1 HH Y fore:
A oOdrl

=

B. gfedr
i La-“’ ﬂ-.-
D. Bl

- - -

= ST 7T fadedl & 9 U5 SR &1 999 DI

1.B,C,A D
2ADB,C
3.D,B,CA
4 C,DAB

Options :

22742758405. 1
22742758406. 2
22742758407. 3
22742758408. 4

Question Number : 128 Question Id : 22742714991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is correct sequence of Vedaa?

A Yajurveda

B. Rigveda

C. Samveda

D. Atharvaved

Choose the correct answer from the options given below:

1.D,CBA
2 ABCD
3.BACD
4 CDAB

Options :

227427584009. 1
22742758410. 2
22742758411.3

22742758412. 4

Question Number : 128 Question Id : 22742714991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dcl &1 9ol ©H 71 82

-

= fGT 7T fadedl & 9 U5 SR &1 999 DI

Lt P —
o> o

L

Options :

227427584009. 1
22742758410. 2
22742758411.3

22742758412. 4

Question Number : 129 Question Id : 22742714992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange following Books in correct sequence of their publication year:
A Mrigawati

B. Padmawati

C. Satyawati Katha

D. Madhvanal- Kamakandla

Choose the correct answer from the options given below:

1.ACB,D
2. BADC
3. CADB
4 DB,CA

Options :

22742758413. 1
22742758414. 2
22742758415. 3
22742758416. 4

Question Number : 129 Question Id : 22742714992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



— -

eI ay & HH I Ffiied e of g
A TITTE

B. giTadt

C. TOgd! &Yl

D). HIRGIHCT deTHD -Gl

=, =

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1.A,C B,D
2B,ADC
3.CA DB
4 D B CA

Options :

22742758413. 1
22742758414. 2
22742758415. 3

22742758416. 4

Question Number : 130 Question Id : 22742714993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the correct sequence of Akbar court’s royal poet in chronological order:
A_Tansen

B. Birbal

C. Mahapatra Narhan

D. Raheem

Choose the correct answer from the options given below:

1.CBAD
2. ABD,C
3.D,CBA
4 BD,CA

Options :

22742758417. 1
22742758418. 2
22742758419. 3
22742758420. 4

Question Number : 130 Question Id : 22742714993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HpaR] GIER @ Aoicbid & HIcl oH I Yol hH H ST
A TEEA

B. ¥R¥d

C. HelUE G

D IEH

1 feu

-

T4 fddedl 3 9 I8! 3R &1 997 DIIe:

=

1.C,B,A D
2ABD,C
3.D,C, B A
4 B,D,C A

Options :

22742758417. 1
22742758418. 2
22742758419. 3
22742758420. 4

Question Number : 131 Question Id : 22742714994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the published books according their publication sequence
A A grammar of the Santhali Language

B. Santhali Angreji dictionary

C. In introduction to the Santhal Language

D. Santhal and the Santhali

Choose the correct answer from the options given below:

1.AB,CD
2. B.CDA
3.CDAB
4 DAB.C

Options :

22742758421. 1
22742758422. 2
22742758423. 3
22742758424. 4

Question Number : 131 Question Id : 22742714994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ehTTRTd Qo] @1 BT HH H TE:

AT qHR 3Gl Idrel ddd
E HE N alq-'a .CJEEF-: -\fl

C. 3 SCIe®YH ¢ &l TdTell Tids

D. IdTd UUg &I gl

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1.A,B,C,D
2.B,C, DA
3.C,DAB
4 DA BC

Options :

22742758421. 1
22742758422. 2
22742758423. 3

22742758424. 4

Question Number : 132 Question Id : 22742714995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the structure of social traditional Law and order in correct sequence:
A_ Pahta Dokalow

B. Raig] Mahadokalow

C. Pragana Dokalow

D. Khoont Dokalow

Choose the correct answer from the options given below:

1. ABD,C
2 BCAD
3. CDBA
4 DACB
Options :
22742758425. 1
22742758426. 2
22742758427. 3

22742758428. 4

Question Number : 132 Question Id : 22742714995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qrHTSIS TRURS B A &) Ul ®f HH H for:

A Ugel siddl

B. \59 Helaimal

C. QAT Siddl

D. {c Sibdl

= ST 7T fadedl & 9 U5 SR &1 999 DI

1.AB D,C
2B,CAD
3.C D B A
4 DACB

Options :

22742758425. 1
22742758426. 2
22742758427. 3

22742758428. 4

Question Number : 133 Question Id : 22742714996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Write the following Literary- form in correct sequence:

A. Pravandh Kavya

B. Folk Song

C. Story

D. Folk- Drama

Choose the correct answer from the options given below:

1.ABD,C
2 BDCA
3. CABD
4 D.CAB

Options :

22742758429. 1
22742758430. 2
22742758431. 3
22742758432. 4

Question Number : 133 Question Id : 22742714996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafatad aiied &1 e & w0 1§ fae:
A. TG BT

B. didId

C. dgHl

=, =

= fGT 7T fadedl & 9 U5 SR &1 999 DI

1.A B D,C
2.B,D,C A
3. C AB D
4 D CAB

Options :

22742758429. 1
22742758430. 2
22742758431. 3

22742758432. 4

Question Number : 134 Question Id : 22742714997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is correct sequence of the following books of their first editions?
A Suda Sangen

B. Seled

C. Sasamba

D. Bambaroo

Choose the correct answer from the options given below:

1.B,D,CA
2 CBAD
3.ABCD
4 D.CAB

Options :

22742758433. 1
22742758434. 2
22742758435. 3
22742758436. 4

Question Number : 134 Question Id : 22742714997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fifthd Tad! & TYH TR & T9R U8l HH 91 87
A g1 HH

B. ¥dia

C. e

D, FIETE

=, =

= ST 7T fadedl & 9 U5 SR &1 999 DI

1.B,D,C A
2C,BAD
3A,B, C,D

4 D CAB
Options :
22742758433. 1
22742758434. 2
22742758435. 3

22742758436. 4

Question Number : 135 Question Id : 22742714998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Write the correct sequence of issues and branches of linguistics:
A_ Phonetics

B. Semantics

C. Syntax

D. Morphology

Choose the correct answer from the options given below:

1. D,AB,C
2 CDAB
3.ADB.C
4 B.CDA

Options :

22742758437. 1
22742758438. 2
22742758439. 3
22742758440. 4

Question Number : 135 Question Id : 22742714998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HIYT Ta57H o 377 SR raredl &1 wel A H o |
A & - fagme=
B. 39 - fagm
C. a1 - fagH
D. ¥4 - fagm=
1 feu e fasedl § T TE IR &1 994 DI

1.D,A B, C
2C DAB
3AD,B,C
4 B,C, DA

Options :

22742758437. 1
22742758438. 2
22742758439. 3
22742758440. 4

Question Number : 136 Question Id : 22742714999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: This tradition of folk literature probably as old as the human species.

Reason R: But the tradition of folk songs, folk lores and adage has remained oraln the light of the above statements,
choose the most appropriate answer from the option given below

1. Both A and R are correct explanation of A.

2. Both Aand R are correct but R is not the correct explanation of A.
3. Alis correct but R is not correct

4 Ais not correct but R is correct

Options:

22742758441. 1



22742758442. 2
22742758443. 3

22742758444, 4

Question Number : 136 Question Id : 22742714999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e & oY U T 8: W0 i (Assertion A) @ 0 & fifed & ol GOR1 9% RV (Reason R) & ¥ T

HHY A: Tl - e DI IERT el 3o ol G & fofat] GRI1 5 i |

SR R: oo 7l - M, <l - ot U Ikl & AR T § i 5

IR B o il | i e U fadhedl & 4 G SUged SR &1 98 Sie:

1. AR R o1 & IR R AT T8 =N &

2 A¥R R Tg1 8, dfT R AP U e el &
3. ATEI g cifor R 98! el o

4 AU eI ¢ i R T8l &

Options :

22742758441. 1

22742758442, 2

22742758443. 3

22742758444. 4

Question Number : 137 Question Id : 22742715000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: No amount of appreciation and praise is sufficient for British Civilians who pioneered the study of Indian Folk
literature.

Reason R: Study of Indian folk literature was initiated by Indian literatore.In the light of the above statements,
choose the most appropriate answer from the option given below

1. Both A and R are correct explanation of A.

2. Both Aand R are correct but R is not the correct explanation of A.
3. Ais comect but R is not correct

4 Ais not corect but R is correct

Options :

22742758445, 1
22742758446. 2
22742758447.3
22742758448. 4

Question Number : 137 Question Id : 22742715000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A & FA U U : W A (Assertion A) & G o & d GINT 390 BRY (Reason R) & &0 T

HHYA A: R T - Tied o HEH 1 G ST e it o el RTaTereHt & S9! @l @1 foleel il o1 o
i

HRU R 4R 31 - Wige o e 1 U HRHY Wigam A v 41
SR B B ey H 1 160 70 o H 4 e JUGeH I 1 T ol

1 AIRREH T8 8 AR R A D! T8 o

2 AFRRGHI TEl 2 i R AT G e e &
AT IR T T B

L AT T TR E S

Options:

22742758445, 1

22742758446. 2



22742758447. 3
22742758448. 4

Question Number : 138 Question Id : 22742715001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Maler tribe is a branch of the oraons which travelled along the Ganges and settled in the hills of Rajmahal
Reason R: The second branch entered the Koyal valley across river son and settled in Palamu and Chhotanagpur

In the light of the above statements, choose the most appropriate answer from the option given below.

1. Both Aand R are correct explanation of A

2. Both Aand R are correct but R is not the correct explanation of A.
3. Als correct but R is not correct

4 Ais not correct but R s correct

Options:

22742758449. 1
22742758450. 2
22742758451.3

22742758452. 4

Question Number : 138 Question Id : 22742715001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9 3 By U0 §: U AU (Assertion A) & F ¥ fafiad § fl OR1 3 R (Reason R) & ©Y H:
Y A Fd1 B T ST 7T TR Tl g5 ovied @) Telied] § a9 713 dg) 3ffel Hek SHwi ol
PR R: T TRE1 G IR S BT @1 G1e) A 9faF g3 off Tar R SRR H 94 7|

TR HYA & STl | i U T faded] 7§ 9 U0 SR & 90 BT

1 ANRRG TR E R R AP To! oI &

2 AR RGH T8l 8, AT R AP T8 AT e &
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4 AT TR TP R TE ©

Options :

22742758449. 1
22742758450. 2
22742758451. 3
22742758452. 4

Question Number : 139 Question Id : 22742715002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements - one is labelled as Assertion A and the other s labelled as Reason R

Assertion A: Incidents narrated in the Ramayana belong to the Post-Maha-Bharat period. Epic of Ramayana was composed
after the Mahabharata.

Reason R: Names of individuals like Rama, Dashratha, [schwaku, Vishwa-mitra and Vashishth and names of river like saryu and
Gomati belong fo the Kosala.

In the light of the above statements, choose the most appropriate answer from {he option given below

1. Both Aand R are correct explanation of A.

2. Both Aand R are correct but R is not the correct explanation of A.
3. Ais comect but R is not correct

4 Ais not corect but R is correct

Options:

22742758453. 1

22742758454, 2



22742758455. 3
22742758456. 4

Question Number : 139 Question Id : 22742715002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

il & Y R T0 B: U AU (Assertion A) & U H fRifEd 8 ol GERI 34 HRY (Reason R) & &Y H:
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Options:

22742758453. 1

22742758454, 2

22742758455. 3

22742758456. 4

Question Number : 140 Question Id : 22742715003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements - one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Cities like Mohan Jodaro have been described in the Rigveda Hadappa and Mohan Jodaro are the next developed
form of Puron of the Rigveda

Reason R: Puras of Rigveda were made of bricks whereas Harappan towns were made of Stone.
In the light of the above statements, choose the most appropriate answer from {he option given below

1. Both A and R are correct explanation of A.

2. Both Aand R are correct but R is not the correct explanation of A.
3. Ais comect but R is not correct

4 Ais not corect but R is correct

Options :

22742758457. 1
22742758458. 2
22742758459. 3
22742758460. 4

Question Number : 140 Question Id : 22742715003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I @ T U U &: U e (Assertion A) & & 1 i & dl GUR1 3% SRV (Reason R) & ¥ &:
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Options:

22742758457. 1

22742758458, 2



22742758459. 3
22742758460. 4

Sub-Section Number : 2
Sub-Section Id : 227427587
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742715004 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following Passage and answer the questions

Tribes are found to have a good knowledge of craftmanship. Plastering of walls with cow dung. Mural paintings, Jhopadi made
of gurgu leaves, bamboo-umbrella, carpet of bats, Khatiya-Machiya therr artistic making and netting, kumni-Jhinari, Jall-geera,
Katikan, bow-arrow, Jhilpi efc - manufacturing of these things are the best expression of their artefacts. Kumni is a beautiful
artefact of tribal civilization. Khudari (Tobacco box) excellent example of theirart cumba of Birhor is in itseli @ wonderful artistic
example. Fudveera Uraon and Kademala of Munda are examples of their art. Santali Jadow Patiya is famous four tribal women
artistic of Hazaribagh had gone to Australia in March, 2004 to exhibit their Khobar and Sohray Paintings. Bamboo buckets,
brooms etc and metal lamps etc. are beautiful and useful example of their arts.

Sub questions

Question Number : 141 Question Id : 22742715005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What would be suitable title of this passage?

1. Craftmanship of tribals and their position in artifacts
2. Tribal artefacts

3. Tribal civilization

4. Tribal expressions.



Options :

22742758461. 1
22742758462, 2
22742758463. 3
22742758464. 4

Question Number : 142 Question Id : 22742715006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is a beautiful example of artefacts of Tribals civilization?

. Kumni

_ Sohrai Painting
. Kohbar

_Lamp (Dhibri)

L N

o

Options :

22742758465. 1
22742758466. 2
22742758467. 3
22742758468. 4

Question Number : 143 Question Id : 22742715007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kumba is wonderful art belonging to which tribes?

1. Uraon
2. Munda
3. Birhor

4 Chero

Options:

22742758469. 1



22742758470. 2
22742758471. 3

22742758472. 4

Question Number : 144 Question Id : 22742715008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Women artists of which of the following area exhibited their Kohbar and Sohrai paintings in Australia in 2004?

1. Santhal Pargana
2. Hazari Bag

3. Kolhan

4 Palamu

Options :

22742758473. 1
22742758474, 2
22742758475, 3

22742758476. 4

Question Number : 145 Question Id : 22742715009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following are the example of useful arts?

1. Plastering the walls with cow dung

2. Bamboo buckets, Brooms, Metal-lamps.
3. Dance Song

4 Poetic creation

Options :

22742758477. 1

22742758478. 2

22742758479. 3



22742758480. 4

Question Id : 22742715004 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742715005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
29 Hwde DI IUgad ud 1 SAT?

1. ST H FRIed Sal Ud 3@] dolpiag] ol ®H
2. SIS el iadl
4. ST AfHefad

Options :

22742758461. 1
22742758462. 2
22742758463. 3
22742758464. 4



Question Number : 142 Question Id : 22742715006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S §¥d1 & B 1 U 91 Yo daldid o2

1. PHA

2 " igdg | &L

3 digds

4. xnai
Options:
22742758465. 1
22742758466. 2
22742758467. 3

22742758468. 4

Question Number : 143 Question Id : 22742715007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Gl [T SeIdl BT 3Gl Hal o2

[
=1
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R
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Options:

22742758469. 1
22742758470. 2
22742758471.3
22742758472. 4

Question Number : 144 Question Id : 22742715008 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

{5 &7 B! Hieel SeTdR! gRI Bleak AR Glers UleT & 2004 H referdn T yafid favgr 412

| HIE o IR

3. dlegH

4 Ui

Options :
22742758473. 1
22742758474. 2
22742758475. 3

22742758476. 4

Question Number : 145 Question Id : 22742715009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UL el & 99 & - ®F 9 fal T 82

1. GlaRI IR fE9rE — giars
2. §19 &1 941 2B Ral, 31 Ui 9 941 feadl
3. T T

Options:

22742758477. 1
22742758478. 2
22742758479.3

22742758480. 4

Sub-Section Number : 3
Sub-Section Id : 227427588

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Id : 22742715010 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following Passage and answer the questions

Similar to Culture the term Civilization has been in currency in modern thinking. There is often confusion between the terms
civilization and culture. Several times these are taken as similar in meaning taken of distinguishing. Civilization s taken as the
development of outer means and environment and culture Is freated as the development of inner idzals and values.
Manufacturing of weapons and other resources are taken under civilization. However, if modesty of conduct and social harmony
are taken as civilization the disharmonious weapons (vaishamya Mulak Astra) too cannot be treated under civilization. Nature
(Prakriti). Distortion (Vikriti) and culture (Sanskriti). In these three terms, we can better understand the actions of men. We can
call nature as something, which is not the creation of man. That is received by man by birth. We can take it is as creation of God.
In scriptures. God is treated as the Master and controller of Nature. According to the Geeta, God Presides over Nature and the
Nature creates the world of all living and non-iiving creatures by his command.

Literature and poetry are the two forms of arts. These are verbal art. Words are the medium or form of these arts. Music is also a
verbal art. Dance is the art involving movements of body parts. Painting is the art of colors. Arts are counted under culture. Arts
are the parts of culture.

Sub questions

Question Number : 146 Question Id : 22742715011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
What would be the suitable title of this Passage®

1. Various aspects of Civilization and Culture
2. God and Man

3. Dance song (Nritya Geet). A study of Music
4 Nature and Culture in Scriptures.

Options :



22742758481. 1
22742758482. 2
22742758483. 3

22742758484. 4

Question Number : 147 Question Id : 22742715012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How the wide difference between Civilization and culture has been depicted?

1. Both are taken as similar in meaning

2. I civilization is taken as the development of other means and environment, culture Is treated as the development of inner
ideals and values

3. All the resources in Nature is culture and the behavior of man is civilization

4 Manufacturing of devastating weapons is the indicator of the distorted culture of man

Options :

22742758485. 1
22742758486. 2
22742758487. 3

22742758488. 4

Question Number : 148 Question Id : 22742715013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In how many forms verbal arts have been depicted?

. Skill of house building

- Manufacturing skill of weapons of destruction.

- Music, Dance, Painting, Literature and Poetries.
. Power of soul. Harmony sharing

[

=

Options:

22742758489. 1



22742758490. 2
22742758491. 3

22742758492. 4

Question Number : 149 Question Id : 22742715014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Manufacturing of weapons and other physical resources come under

1. Culture

2 Art

3. Unsocial

4 Civilization
Options :
22742758493. 1
22742758494, 2
22742758495, 3

22742758496. 4

Question Number : 150 Question Id : 22742715015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

MNature Means

1. That which is done by human hands

2. That which is not human creation it is received by men by birth.
3. Acts performed by kings

4 Others creation which has been adopted by men by force.
Options :

22742758497. 1

22742758498. 2

22742758499. 3



22742758500. 4

Question Id : 22742715010 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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TPl o T e TR+ U 0T W raerl ) T & 4 R R o v 7 i Xt @ 9 &

T A T g1 45 % o forg et 1 ] e 3R O] T T M Tl o S 1 e el e
e 61 oD T 1 T TG ST 1 o o2 Tt 1Tl et €1 o] TR 40 Sl 4 o

5T 1 T, T ) 1 490 e 3 1 el b it ) T T o 0 €1 e, i R ¥ 39 M1 Yl
R T 35 i 1 o 3] ¥ S o e o e 98 g 9 ¢ o A 1 10 e o 9 P ) A
B 1 5 o S0 SR 0 T Y e | 4 ST A 3R 1 ol 1 St R S A1 o 31 T a5 SR 8 e
1 A4 3 B T Fpie TR T 1 ] @il

T 31N e el €1 0 3| U g e 91 el ] o T - 70 @1 6 | e 1 1 ol | ol 1 07 S
& S g ¢ | B U 1 97

Sub questions

Question Number : 146 Question Id : 22742715011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
39 HJwc &I UG Xuds o1 gRT?

1. ¥l R GEpld & fafay |
2 3R AR H4™

3. 7 - I W BT A

4. ¢ - TRl H UDid 3R Tl |
Options :

22742758481. 1

22742758482. 2



22742758483. 3

22742758484. 4

Question Number : 147 Question Id : 22742715012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742758485. 1
22742758486. 2
22742758487. 3
22742758488. 4

Question Number : 148 Question Id : 22742715013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e ] Bl fdod- ¥ Ul H fGETs TS 87

1. Yo {101 § S|

2. UgR® 3% DI FH0 B

3. TWild, 7 feadhan, Uiied 3R S Sl
4. 3T BT Wish, YagTd HGHIFTAT|

Options :

22742758489. 1
22742758490. 2
22742758491. 3
22742758492. 4



Question Number : 149 Question Id : 22742715014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3T T4 HiE T o &1 i e sl 91 o 9o 22

1. H-;Q;Tﬁ & A

2. &l & 3=

3. AAMEIHd & JH<Fia
4. |l & Sl

Options:

22742758493. 1
22742758494. 2
22742758495. 3
22742758496. 4

Question Number : 150 Question Id : 22742715015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SEARKAGIR P 2,

1. Sl A & g1i faedn T B

2 Sl A @ Pid T8l 5, I8 A e ¥ Ui @ 3
3. eIl & R a1 79 & B

4 G @ Bia off T79 §RT Ta0g® HHR foar T 8|

Options:

22742758497. 1
22742758498. 2
22742758499. 3
22742758500. 4



